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Aufgabe 1 (Schnellübung)

a) QSRUT@VXWZY7[]\C^<_4RUT6`�a�b*[UT/a2T/c�^ed!^�RUYCc$f YCc�gih�jSd!V�^�k%lnmpo:q4rts4u*c*v%^�RUYCc�w
// PRE: Die Eingabe ist eine beliebige positive ganze Zahl n

// POST: Der Rueckgabewert ist der Funktionswert M(n)

unsigned int mccarthy(unsigned int n) {

if (n > 100)

return n - 10;

else

return mccarthy(mccarthy(n + 11));

}

b) x:d�_4RUTzy{u*o�|9T@V�^�uFc4\I_*T/o C++ s*u*c4vJ^�RUYCcFd�u4W}V.u4WZT/o mccarthy(n) \ T/cFd�u~a�R]^:_*T@V:a2d!^�k*T/a2d!^�RUo�h.k*T/c
x<T@�Fc4R]^�RUYCc��u4��T@VeT@RUc*o�^�RUa,az^/�*f T@V�|ET/c*_*T/c$|?R]V<_4RUT�v��u4Ve��T@VeT6�?Y7^ed!^�RUYCc M(n) w
� R}� M(101) = 101 − 10 = 91

� R]R}� M(100) = M(M(111)) = M(101) = 91

� R]R]R}� M(99) = M(M(110)) = M(100) = 91

� R]f*� M(91) = M(M(102)) = M(92) = M(M(103)) = M(93) = . . . = M(99) = 91

xXRUT�s4u*c4vJ^�RUYCc�|?R]Ve_��u4�*VeR]\ T/c*o{gIh�jSd!V�^�k%l�mpo?q4r<s*u*c4vJ^�RUYCcI\ T/cFd�c*c%^/�J|ET@R][ M(n) = 91 W��u*VEd![][UT n � 101� u*c*_�cFd!^7�u4V�[]RUh.k n − 10 W��u4V{d![][UT n � 101 �.w


